00oooooooo1(1)

00

20040 1090 OO DO

O000000000000000000000000 (recursive) 100000000000 OOOOOO
000000000000 000000000000000000000 (recursive) 000000000
gbooobooboobobooooobooboobooboooboooboooboooboobOoobooboooboobo
goboooooboooobooboon

gboooboobooobobboooobooboooboobooboboboboboobooboooOooboOoooo
gboooboobobooboooobooboooboobooboobOoooOoOoboooboooboOoobooooDn
0 (CO0o0O00oo0)bo0o00ooo000ooOo0oOoOo0oU00OoOo0DOoOoOOoODOOoDOOOo

1 O0o0Oodnd

0000000000000000000000000(inductive) 000000000000000000
0000000000000 1000000000000000000000000000 nO000O0000
00000 .000000000000000000

0000 0 y00000000000M20 y000 ple,y) D00000000p0 y0000000
00000000000000 y=000000 00020000 p(#,0)=1000010000000
0y0100000000000 y0O0OOO0(0O0020000)p(z,y)000000000000'000
000000 20000)p(z,y+1)0000000000p(z,y+1) 0020 y+100p(z,y) 0020
yO0OODO0DO0OO0OO0O0D000000p(z,y+1)=zxp(zy) 0000yO000 10000 1000y 0000
plz,y)=zxpxy—1)0000000000000000000000000:

1 (y=000D0)

p(x’y):{xxp(x,y—l) (y>0000)

00 (p(z,y)) 000000000000 (p(z,y—1))00000000000000
000000000000 y00000000000000000000002040000000000
00000000000 (000000000000000000):

p(2,4) = 2xp(2,4-—1)
= 2xp(2,3)
= 2x(2xp(2,3-1))
= 2x(2x(2xp(2,2-1)))
= 2x(2x(2x(2xp(2,1-1))))
= 2x(2x(2x(2xp(2,0))))
= 2x(2x(2x(2x1)))
- 16

0000000000000 0000 p(z,y) 0020 yOOOODODODODOODOODODODODO0OODOOOOOO
O000000y=0000 p(z,y) =p(x,0)=1000000000 y=0,1,...,k0000 p(z,y) D0 x0O
yooooooooOoooooooooooooouoooooo0o0p(e,k+1)=cxp(e,k) 000000

1p(z,y) 0000000000000 0O0OO00000DO




0000000 p(z,k) 0020 k000000000000 p(z,k+1) =z xp(e,k) 0020 k+1000
0000000000000000000 y0000 p(z,y) 0020 y00000000000
00000000000000000000000

ez 0 yO0O m(z,y) DOOODOODOOO:

1 (y=0000)
m(z,y) =49 z+m(z,y—1) (y>0000)
—m(x, —y) (y<o0DOO)

)

(00000000000000000000000000
e y0OD (yx(y—1) x(y—2)x--x3x2x1)0 f(y) 0000000 DO0:

1 (y=0000)
Iy _{yXf@—l)(y>ODDD)

1.1 0O0ooboooodoo

0000000000000 2000000000000000000 (Fibonacci numbers) 002000
Ubz—-1000«c-20000000000000000000001,1,2,3,5,8,13,21,34,55,...0000
O000002x) 0000000000 0000000000B(x)0b(z—1)00b(x—2)0000000

Dooo0ooo:
b)_{l (t=0,2=1000)
@ = b -1)+bz—2) (@>1000)

gboboe0ooobOObOOObOO 13O O0O0O00ODLOOOOOOOOOOOOOODbOObOOObOObOOn:

b(6) = b(5) +b(4)
= (b(4) +b(3) )+ (b(3) +b(2)
= ((6(3) +5(2) )+ (b(2) +5(1))) + ((6(2) +b(1)) + (b(1) +
= (((6(2) +b(1)) + (b(1) 4+ 5(0))) + ((b(1) + 5(0)) 4 b(1))) + (((b(1) + b(0)) + b(1)) + (b(1) +
= ((((6(1) +5(0)) + b(1)) + (b(1) 4 b(0))) + ((b(1) + b(0)) + b(1))) + (((b(1) + b(0)) + b(1)) + (b(1) +
= (@0 +1 )+1 H)+1 41 N+@ +1 H)+1 N+W(1T +1 H»+1 )41 +

dod2000b0f0bo0b0oobobooboooboboDoU0DdUmbbbbO nbboobob g
000 e(m,n) 00

e kO00DOOEKODODOOOODOOIDDOOOOO
e kO0O0DODOODODODOOODOOOOODIOOOODODO

e kO00O0ODOO0 s0000DOODOOODOOOODOEK—-100D0j—-1000000000O0O0OO
ooooobo0ooboo0 k-1000000000000DOCO0O0OO

gbooan

1 n=0m0d00
eclm—1,n—1)+c(m—1,n)

c(m,n)z{
googoood
00 11-1: (00000000) e>b0000 ,b000000 GCD(a,b) DOODDDOOOOOO(MOO

O0:00000000000006,b0000000 b, (a%)000000000000000a%b0 a0 b
O0000o0o000ooo0oUoooOoObsP=00000)



2 JUuuobooobooood

gbobooboobooobooboboobooooobooobooboooobooobOooboOoooOoobooag
gboboobooooboooboobooboobooboboobooboobooboobobOyOODOODO
gooooooooooboono:

public static int power(int x, int y) {
if (y==0) {
return 1; // 00000
} else {
return x*power(x,y-1); // y>o0000
}
}

N e oA W N =

e 100:0000000D00D0D0ODO0ODOO (static)J0DOOOO (int)D000O0OOO (power)d
0000 (int0int) 000000000000 DO0O0OO (xOy)000O00O0ODO

e 2000 if000y0 00000 300000000000 DOOO(DOODODOO)OS00000O
goo

3000000000000000000010000000000 2x°=100000000000

e 50000DDOOODDOUOOODPpower(x,y-1) 0000 0x0y1000000D00OO0xO0DOOOO
000000000 p(z,y) =zxp(z,y— 1) 000000000000 Opower(x,y-1) 000000
000000000020 00000000000

00 11-2: (D000OO0OO0OOOO)* 0000000O00O00002000003000000000000
gbbogboboobobooboboobobooboboobobooooboobobooooban
goooooooon

00 11-3: (DOO0DO0OODOO0O0O0) 1000000 11-1000000000000000()20000
(h)0ooooOooO(e)OOOOOOO(dODOO0D0O0o0oooOooooooooooUooooo

21 0dO00Ooboobogooboboobod

gbooobooboooboooboobooobooobooooobooooboooobooboobOooonoo
gbboguodbogoboboouooboooobuoboobuoboboobuooboboobobooboonoon
gbobgobobbobboboobooboobooboobooobaboo
gboboooobooooboobooooboooboon:

(I>5)

B H (1<5)

0000000000000000000I0s500000000000000000000O0O0OOO0O (O
ooo0)yooooOoooooOooooooooUooooooo0ooUo0D (oooD)oooooo /30

200000000000 |DDDD|.|DDDDD|(E|,...) ooooooO0O0O0O0O00D0D0D00000000gn

ooooo (El, ... 00000




00000000000000003000000000 21/30000%0001(0500000000000
gbooooobooooboobooooboboooon
OO00000O000DO0O00b0oOO000DO00TwtleDOO0O00DOOOOODODOOODODO:

1 |public class Tree extends Turtle {

2 public Tree() { super(); } //000000000

3 public Tree(int x, int y, int a) { /000000000

4 super (x,y,a); //00000000000000
5 }

6 public void tree(int length){ //00000 length DO OO0

7 if (length>5) { //000 s00000000000000
8 fd(length/3); //0000

9 1t(30); //0000

10 tree(length*2/3); //0000 2/300000 (0)O0o00d
11 rt (60); //0000

12 tree(length*2/3); //0000 2/300000 (0)O0o00
13 1t (30); //0000000

14 bk (length/3); //0000000

15 } else { //000 s00000000000000
16 fd(length); //0000

17 bk(length) ; //0000000

18 }

19 }

20 public static void main(String[] args){

21 TurtleFrame f = new TurtleFrame();

22 Tree m = new Tree(200,300,0);

23 f.add(m);

24 m.tree(200); //0000
25 }

26 |}

O000Otree(1) 00 Tree 0000000000 (0DD00D0UODOODOOOOOOOOOOOODOODOOOO
0)00il00000000O0000O000OOOO0OODOOOOOO
gboboobosobooboobboooboooboo g, 11uobooobcobboob0obboOond1o, 12000 treeld
000000000000 000 (tree0 00000000000 OODOO0OOOOOOOOOOOOOOO
00o0ooo00)000013,140000000000000000000
gboboobOooboooobobooboobobooobobooonoo

22 U0000O0O0OOO

gbooooooboooobooboboobooboooon

ggogd ugboobagoaood

ooooobooooooooooobooooooo0ooooOooooooDooooboOobO0oooDboODOoO!lo
0000000000000 00o0/2000030000000000000000O0!0000O00O /30
gb4000000000000000C00OO

3000000000001 00000000000000



CoRtie

gbooogo ooOo0ooo (o800, 00:300,00:200,00:100)

00 11-4: (CO0O0O0OCOO0O0) ODOOUOOOOUODOOO(d) 0000000 20003000000
(b)0OOUODOOOOO0OO0O0OU0O0O000O00O00000000000000000oooooooooo
gbobobgobobbobboboobooboobooboon

3 duuuoogood

m.tree(200) OO0 O0O00DOOO0OO0OOOOODODOOOO0DOOOOOODOOOODOOOOOODDOOOOO
boboooOobooooboboobooboboooooboooooobooooboOoboo
gboooboobobooobooobooboooboobooboobooboobooOooboOoooOoooOoooo
ooboooooodb m1 00000 m20000000000000O00O000O0O000O0DO0OODOOOO0O0OO
gooooood

1. 0ob0oO00obooboooboboob0omiObOO0O0ODOO0OODbOO0O0DbOO00O0 mlOOOOOOODOOOO
oooobooboooooboo

2. 0000m2000(000O)00OO
3. 0000000000b000b00b0b0b00bO0b000O m1O00OOooooon

jbdbooooooobobooboooob20b0bo0ooo0ooobooboooobOobooooboonog
gboooooboooooboboood



4 0OU0O00OoOOooood

00 11-5: (00) OO0Oe680000000C00OO0OOOOO0OOOOOODOODOOOOOODOOOOOO
gboboobOobooobobz0 y0O0O0O00O0OO0O0DOODOOODOO:

1 (y=0)
p(x,y) =1 p(x?y/2) (yOooooooooo)
zxplz,y—1) (yooOO)

gbobogbogbuooboobooboobooban:

public static int power(int x, int n) {
if (n==0) {
return 1; // ndoQ000O
} else if (n¥2 == 0) {

5 return | (¢*)™?000 ; // a0 00000000000

AW N e

6 } else {

7 return; // n000000
8 }

9 |}

000000000000020300000000000000000000 System.out.println(n); O
0000000000000000000000000000

00 11-6: (00000) 3000 (po,pLp 000)00,000000000000 (doyds,.-.,dn1)
0004;0d;y; 00000000000000000 po0000 dys,...,de 0000000000000
00000000000 pp 00 » 0000000000000 01000000000000 100000
00000000000000000000000000000000

p;000d;,...,d 0 p,00000 (00D0O0D0000OD0 p,000)000000000000D000O:

e p; 000 di—q,...,do 0 p. 0000 (0O0O00C00O00O0Opy)O
e d;0p,00p, 00000
e p. 0000 d;—1,...,do 0 p, 00000 (0DOOO0DOOOOPy)

0000000000000 0000O00000000000O000000000000(00 Hanoi.java)

1 |/ 00 di0do 00 pf 000 pt 0 (O pe00DO)ODO */

2 |public static void hanoi(int di, int pf, int pt, int pe) {

3 if (di == 0) { // 000000

" (i 0 pf D0 pt 00D

5 } else { // did0 00000000000
o di—1|:|d0|:|pf|:||:|pe|:|(ptEIEIDD)EIEI‘

. di0 pf 00 pt OO0

s di-10d00 pe 00 pt 0 (pf0000) 00 |

9 }

10 }

5 uuouooognd

00000000000000(0000)00
e 00 (int) 000 (double) 00000000

e JOO0OO0OODOODOOOODODOOOO

e UL ODLODODLDOOOODLOODLOODLOODOODLOOOn



gbobooboobobooboboobobooobooooboooobOooooboobooboobooboonn
ooooooooon
goboobooooooooooooooobboooobooooboooooboooboboooboooooooo
0000o000oO0o0oOo0oOoUoo00oO00oOO0O0U000OU0O00DOO0U0OO0OUOO0OOODOO(@COOoOOO
ooooobo0oooooo0oooooDm@mXooooooooooooooooobomooooooDoo
000 TurtleFrameOD 0000000000 (DOO0)00O00O000O0O0O)
000000000000000000000000D0 (e¢f. 00000000 0O0)0D000D0000O00O0
0000000000000000000 (ef. 00D00DD0OD0O0DD0O0D0OO0)0D00000O0O0D0O0ODOOOO
gooooooboooooboboooooo
gboooboooobooboobobooobobooooooobooboobooboobobooboboOoooog
gbooobooboooobobooooboooobooboobooooboobooboobOoooboon
gbooobOoboooboobooooboboooobobooooobOooooboobOooooDboOobn

5.1 0UO040on

gbbooboboobobooboboobobuobooboboboobooooboobobobooboba
gboobobogbobobobooboooobuobooboobobooobooboobaobooobgan
goooo

ooooobbbobOoooooboooooobobobbooooooobbbOob0ooooooobbbO00 ListDemo
OO000D0O0O0O000DOO0000D0O000ListDemo 00 000O0DOOO0OO0DODOOOOODOODO Turtle
O00D0D LinkedTurtle 00000 LinkedTurtle 00 OO0 000000000000 O0O0O0O0O00O0OOOO
gbooobooobooobooboooobooboboobobooobooooOooooboooboOobooDboOoDbo
gboagboooboobgoogan

5.1.1 LinkedTurtle O OO

LinkedTurtle 0000 0O0D0OOOCOO0O0O0O0OOODOOOOOOO0OODDOOOOODOOOOODODOO
gbbogbobooboboooaobuoobobooboboobon...... gbgoooboooboabooon
gboooboooooboboo

public class LinkedTurtle extends Turtle { /000000000
LinkedTurtle next; //000000
public LinkedTurtle(int x, int y, int angle, LinkedTurtle next) {

super(x, y, angle);
this.next = next;
}
}

N O Utk W N

360000000 00O0ODO0ODOODOO
new LinkedTurtle(x OO0 ,yOO,00,000000)
O00000000ooo00oDo0o00o0ooO00o0DoDo00o0oODoDOo0OoDoOo00O0oO0OO
new LinkedTurtle(xO0O ,yO0O, 00 ,null)

OO00MO00DO0O00000O00000OO000DO0O00000 next 0 LinkedTurtle 00 O0O00D00ODO
O0000000000000 LinkedTurtle 000000000 LinkedTurtle 00O O0O0O000O0DODO
gboooooboooooobo



5.1.2 0O0O0O0O0O0O

O0000000000000000 (ListDemo) 0000000000 DOOOO0ODOOOOODOOOOOO
00d0b0ObOO0000bObO0o000b0bOO0o000o0o0bOO00000 10000000000 oObOOoo0oOoOooOon
od:

public class ListDemo {
public static void main(String[] args) {
ClickableTurtleFrame f = new ClickableTurtleFrame();//0 0000000

0O Ok W

©

10
11
12
13
14
15
16
17

}
1

f.addButton("O O ");
LinkedTurtle 1 = null;

while (true) {
String command = f.getPressedButton();
if (command.equals("O 0O ")) {

//0000000000
// 00000000; o00OO

//0000000000000O0O0O0O0O0O0OC0OOOO

//0000000000000
//0000000000

int x = f.getClickedX(), y = f.getClickedY(); /000000000000

1 = new LinkedTurtle(x, y, 0, 1);
f.add(1); 1.£4(0);
} else
0oo0ooooooooooog @)
}

//000000000000
//0000000

ocoooooooooob 1gooobo0ooooo0ooboo4000ob000oooOoO0O0oDO0OOoOooon
0000l 000000000 O0DOOOOOOODOO0OO0ODOODOOOOODbOOOn
gobooboooooobooooboooboobooobooo1booboo0oobooobooobobonog
bobooboooboooobooboboboobooobooooooooboobooooobooobooooooon
coooologoooogoooooooboooooobooooobo0oob1ggpooooooooo
oooomooooobo3gbooboboobooboo3booboooobooobobooon

1. 00010 nud, OOOO0OOOO0ODOOOO0ODO

2. 0000000000000000 10000 (1000) 000 next0 1,000 nullOODOO0OOO
OO0l0nooooooooi10oobgoooog

3. 00 10000000000000000D000 10000 (12000)000next0 L, 000 1100
ooooooOo 10 12,1 000000200000000

4. 0000000000000 00O0O00O00 10000 (13000)000nextd 1,000 120000
OOooo0D1013,12, 1 000000300000000

5.1.3 ODUOO0OO0O0OO040obOad

gboboooooobOobobooooooboooobobobooob oobobooboobooboooboOoonoag
0000000000O00000o0OU0 d(10)000000000000000000000000000O0
goooobooooobobooboobooobobobooobooboo0obobobooooobooboOoboboobooooDo
ob0o0oo0oobooooooooooooogooo oo

0000000000 (DUooo)oooooo
ugbooobgoboobagboaobooabooobogooogoon

00000000000000 (000000 ¢0000000D0O00O0ODO0OOOOOO)O f(HOOODO
obooooOooooooboooooon:

f(g)_{mmm (next 00000
- /00000 f(l.next)0DO0 OOOO

OO0000000000D00D00O0000D0O0O000000D0 LinkedTurtle 000 ODO0O0O0D0O0OOOO:




public class LinkedTurtle extends Turtle {
O0ooooooooooooooooono @)
public void forwardAll(int s) { // 00O0OOODOOO s OOOO

£d(s); // 00000
if (next !'= null) // 000000000000
next.forwardAll(s); // 000000 @oo0ooog)yooo

OO Ut WK

1

6000000000000 ext) 000000000000 O0O0O0O0OODOO0OOOOOODOOOOOOO
0000000000000 000000next0 null 0000000050004 00000 next O null
gboooooboooooobooood

00 11-7: (UO00UO0OO0O0O0O) OOO0ODOOOOOOOOOOOOOOOOOOOODOOOOOOOO0 void
turnAll() O LinkedTurtle 010 000000000 ListDemo 0000000000000 OOOOOODO
0000000000000 0000o0O0O000O0oOoOooOOo O30 000000 UOOOODO(@OO:
Math.random() 0 000 100000 (double) 00 OO0OO0DOODONO)

00 11-8: (DO0OO0OD)* ODUOUOO0OD0OD0OO0O0O0O000000O00 int length() O LinkedTurtle O O
0000000(@O0: 000000000000 00000+10000) ListbemoOOOOO0OOOOOO
000000000000000000000000(@OD: 00000 (mu)D00D00000O000000
000000000000 0000000000000000O00DooooOoooOn)

00 11-9: (DO0O0OOOOOO0) OOOUODOO0O0OOO0OOO0OOO0OYOOOODOOOO (boOoooo
000000000)000000000000000 findTop() O LinkedTurtle 000000000000
Listbemo OO0 0000000 OO0OOODOODOODOOOOODOOOOODODOOODOODODOOOODOO
ooooooooo

O00: 0000000 (CO0O0U00O0O00)O00D0C0O000OODmMOODUDOoOOOULODOOOOn
boboombooooboobooooboboooobobooooboooon:

1 [ public class LinkedTurtle extends Turtle {

2 000000ooooooooooooooooo @)

3 public LinkedTurtle findTop() {

4 if (next== null)

5 return this; //000000000D00O00D00O0O0ad
6 else {

7 LinkedTurtle topOfNext = 0000000 O0OODOO0OOO0OOOOOO;
8 OO0 (this) O topOfNext 0 YOO OOODODODOOODDO return OO

9 }

10 }

11 [}

O000000 m OJOO000O0O0O0OUOUOm.kameColor = java.awt.Color.red; m.fd(0); OO OOOODO
(m.£d(0); 000000000000 O0ODO0OUOOO0OUOOOODOOOOODOOOD)

5.1.4 OO0OO0OODOOOOOOODOO

s.lz2idddboooooooooooooooo0ooodooooooogoooooooooooon
vbogbogbouboobbobouboobooobboobooboobooboobooobooboon
ooooO0o0oOoOooooOoOODODOOOOOO00000000000000DOOOODODO0O0 LinkedTurtle
goooooboood:




1 [ public class LinkedTurtle extends Turtle {

2 ooooooooooooooooooooooD @)

3 public void append(LinkedTurtle m) {

4 if (next == null) { // 00000000000

5 next = m; // mO00000

6 } else {

7 next.append(m) ; // 00000000000 m00000O0OO
8 }

9

0

[y

1

ListDemo 00000000000 OO0O0DOOODOO0O0OD append0000000D0O0O00OOO0OOO
gooooooooogn:

1| if (D0DODOoOoooooo) {

2 int x = (O0), y = (0); (/0000000000000
3 LinkedTurtle m = new LinkedTurtle(x,y,0,null); /000000000000
4 mO00O00O00O0O (O)

5 if (1==null) //0000000

6 1 =m; //000000000

7 else

8 1.append (m) ; //000000000000
9 | } else

10 ooooDoooooooooog @)

11

5.1.5 OO00OO0O0OO0OO0OOOO0OO0OO

ggbogbobodgboboobobooboboobuobobooboboooboobobooboboon
ooooooooo l1ooooooo0ooboooogoooooo0oDboOooooooLoOoooDoo
ListDemo D00 [MO00O00O0O0O00DOO 1000000D0ODOOOODODOOOODO:

1| if (DO0O0ODOOoOooooOog) {

2 goooooooo

3| Yelse if (DOOOODODOOODODOO)) {

4 1 = 1l.next; // 0000000000000 0000O0O
5 } else

6

0000000000000o00 @)

(0: 0000000000000 0000O000O0O00000MO0O0O0DO00O00D0DO0O0O0OoOoOOoOn
00o0ooooooooo)
gboooboob1boooobobooooboob 1boobooboOoboobooboooo
gboooboobooobooboboobooboboobooboooooboooboob 1000b000b00
ooooooooo
gbobooboobooool1oobooobooooboobobooboooboooboooboobooooboOoobooo
gooooooooooooooooooOoOoOOO00 g ooooooooooooooon:

1 [ public class LinkedTurtle extends Turtle {

2 ooooooooooooooooooOoOoOoOOboboooOoono @

3 public LinkedTurtle delete(LinkedTurtle m) { // mO0000000000000O
4 if (this == m) { // 000m0000O

5 return next; // 000000000

6 } else { // mO0000000000

7 next = next.delete(m); // 00000000 m0O0O0OO
8 return this; // 00000

9 }

10 }

11 |}

7TO0000000((mext)d delete 0000000000000 000000 next0000000O00O0O0O
obooobooooobooooooboooo mO0OO0OO0OO0MmOobOoobOoboOoOobObo0obbOoboooooDo
gboooboooooboobooooboooon



ListDemo OO00O0O0 5000000100 m O0O000DDOOO0DOODO 1000000000 mO1
coooooooooloooooooooo0ooooodOm O l0O00DOO0OOODOOOOODDOO
0000000000000 000000 Ldelete(m) 00000 100000000000 O0OOOOOO
goo:

1 if (DOOODOO0Ooooooo) |

2 gpoooooooo

3| Yelse if (OOOODOOOODOOO) {

4 LinkedTurtle top = 1.findTop(); /0000000000000
5 1 = 1.delete(top); //top00000D0OOO

6 | } else

7

0000000000000o00 @)

00 11-10: (00000000 0O0O) ListDemo 000000000000 OO0D0O0OOOOOODOOOO
0000000000000 0000000000000O0(@UO00D00UO0oooO0ooooOoooOO 11-3
oooooooooooon)

00 11-11: (0000000 00)* ListDemoO000000000000 XOOOOOODOODOODOOOO
oobooobooooboooboooooobooobooboobooooobobooobooboobo Xooooooooo
00000000000 (@MOD: 0000000000000 000000O00000O00U0O0O00ooOOn
gbobooooooooooooboboobo oo obuoboboboboobOoboobobooboooobooon
0000000000000 000000O0O00ooooUbooOooooooooOon)

00 11-12: (000O000) Listbemo 000OOO0O0OO00O0OO0OOO0OO0OOOOODOOOOOOODOOOO
gbboogbooboobogbooboobooboobobbobbobbobooboooboon



